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. Read the problem carefully, identify the
quantity that we want to make as large or
small as possible. This quantity is called
the “ohjective function”.

. Draw a diagram and introduce variables
for all quantities from the problem.

. Write an expression for the objective func-
tion. This expression may involve more
than one variable.

. Write the constraint equations. The con-
straint equation is an equation relating
the quantities in the problem. Use the
constraint equation to eliminate extra

variables from our objective function.



5. Write clearly the function (of one vari-
able) to be optimized and state the do-
main. The domain may be smaller than
the natural domain where the function is
defined. These restrictions on the domain
may be stated in the problem or may
arise because of geometric reality that a
negative length is not likely to occur.

6. Find the extreme value of the objective
function using one of the tests above. Fx-
plain why you know you have found the
MaxIImun.

7. Answer the question. Are you to give the
location of the maximum, the extreme
value, or do you need to compute addi-
tional quantities?
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Frample. A rectangular poster has area of
6000 cm?. The poster is to consist of a rect-
angular printed area in the center with 10
cm margins top and bottom and 6 cm mar-
gins left and right. Find the dimensions of
the poster with the largest printed area.
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